Name ___________________

Algebra 2 End of the Year Final review worksheet #3

1. Solve for x: 
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2. Find the vertex of 
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         Is this a maximum or a minimum?

3. Using 
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, when will Lucy have $6400 if she invests $1200 at 15% interest compounded quarterly?

4.  How many different arrangements of the letters in the word DEDICATED can be made?

5. Write as a single logarithm: 
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6. What is the 5th term in the binomial expansion 
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7. In how many ways can a recorder, facilitator, and questioner be chosen in a club containing 14 members?

8. Find 
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9. A bag contains 8 marbles, 3 red and 5 yellow.  A marble is drawn, replaced in the bag, and a second marble is drawn.   What is the probability that both marbles drawn are red?

10. Two numbered cubes are rolled. Find the probability that the 2 numbers total 6 or they are equal.

11. Graph  
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12. Divide:
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a) What is the remainder?

b) What is the coefficient of 
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c) What is the value of the constant?

d) What is the degree of the leading term?

13. Multiply: 
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. Graph your answer on the complex plane.


14. Subtract: 
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15. Add: 
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16. Solve for x: 
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17. Solve: 
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18. Solve: 
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19. What is the solution? 
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20. Expand :
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21. Find the zeros of the parabola 
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